E1 ER-EL

2
Refﬁ;ans dx @ a e | h K ﬁ
. ()]
1710-0608 | Méx8 7.7 13 26 10 6 14
1710-0810 | M8x10 9.7 15 30 12 6 25
17101012 | M1ox12 | 117 18 36 14 7 49
1710-1214 | M12x14 | 137 22 44 16 8 82
1710-1416 | M14x16 | 157 25 50 18 9 120
17101618 | M16x18 | 17.7 28 56 20 10 165
17101820 | M18x20 | 19.7 32 64 24 12 260
1710-2022 | M20x22 | 217 35 70 28 14 365
1710-2224 | M22x24 | 237 40 80 32 16 535
1710-2428 | M24x28 | 277 44 88 36 18 745
1710-3036 | M30x36 | 35.6 54 108 | 44 22 1390

Product Nr. 1710 Long T-Nut

» This clamp protects T-Slot in sensitive machine plates
 Hardened

* Black coating

* Quality 10

Long T-Nut




